专升本专业英语模拟卷（35题 共150分）
听力题（1题 共30分）
Part 1 Listening Comprehension

Section A

Directions: In this part, you will hear 10 short conversations. At the end of each conversation, a question will be asked about what was said. Both the conversation and the question will be spoken only onece. After each question there will be a pause. During the pause, you must read the four choices marked A,B,C and D, and decide which is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line through the center.
1. A. The woman feels sorry for the man.    B. The man is a member of the staff.

C. The area is for passengers only.       D. The woman is asking the man to leave.

2. A. Clean her house while she is away.    B. Buy her some plants and take care of them.

C. Water her plants while she is away.    D. Water her plants when he is not at work.
3. A. He will only be available in the afternoon.  B. It’s not his office hour.

C. He doesn’t have time.                  D. He is too tired after class.

4. A. The woman insists on going out.            B. The woman doesn’t like watching TV.

C. The man promised her a gift on her birthday.  D. The man is too tired to go out.

5. A. There are too many courses offered to students. 

B. There woman should take fewer courses next term.

C. The man will take four courses next semester.

D. It is wiser to take more than four courses.

6. A. Ask Tom to send an invitation.     B. Get the Johnsons’ address.

C. Invite Tom to the party.           D. Tell Tom to pick up the Johnsons.

7. A. Jane is looking for an summer job.   B. Jane is packing for the summer vacation.

C. Jane is on her way home.           D. Jane is eager to go home for the vacation.

8. A. Spending more time on sightseeing.   B. Visiting the city with a group.

C. Touring the city on a fine day.        D. Taking the man with her on the tour.

9. A. The woman is driving too fast.       B. The woman is driving at a slow speed.

C. The woman has broken a traffic rule.  D. The woman has parked her car in a wrong place.

10.A. She can tell Joan’s brother about the reception. B. She should tell Joan’s brother about the reception.

C. She must call on Joan after the reception.     D. She may see Joan’s brother at lunch.

Section B

Directions:
In this section, you will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A., B., C. and D.. Then mark the corresponding letter on the Answer Sheet with a single line through the center.

Passage one

Questions 11 to 13 are based on the passage you have just heard.

11. A. To protect persons and property.     B. To collect taxes.

C. To teach and train citizens.         D. To save natural resources for future use.

12. A. By selling services that make life comfortable.   B. By selling land containing oil.

C. By selling public lands.                     D. By selling coal and other natural products.

13. A. Environmental pollution and protection.     B. Taxes and services for the public.

C. Police efforts to protect people.            D. People’s attitude toward taxes.

Passage Two

Questions 14 to 17 are based on the passage you have just heard.

14. A. He didn’t like physics any more.     B. His eyesight was too poor.

C. Physics was too hard for him.       D. He had to work to support himself.

15. A. He was not happy with the new director.  B. He was not qualified to be an engineer.

C. He wanted to travel.                  D. He found his job boring.

16. A. He wanted to work with his friend.      B. He wanted to go to Spain.

C. He enjoyed travelling around the world.  D. He was rejected by the engineering firm.

17. A. He enjoyed teaching English.           B. He wanted to earn more to support his family.

C. The owner of the school promised him a good position.

D. He could earn more as a teacher than as a travel agent.

Passage Three

Questions 18 to 20 are based on the passage you have just heard.

18. A. It can be cooked in many ways.            B. It is delicious but inexpensive.

C. It gives higher yields than other grain crops.  D. It grows easily in various conditions.

19. A. Fried potatoes.  B. Tomato juice.   C. Sweet corn.   D. Chocolate beans. 
20. A. They led to the discovery of America.   B. They made native American foods popular.

C. They brought great wealth to Spain.    D. They made native American life styles well-known.

选择题（30题 共60分）
21.Our new house is very ______ for me as I can get to the office in five minutes. 

A. adaptable 

B. comfortable 

C. convenient 

D. available 

22.He wrote an article criticizing the Greek poet and won ________ and a scholarship. 

A. faith 

B. status 

C. fame 

D. courage 

23.These teachers try to be objective when they ______ the integrated ability of their students. 

A. justify 

B. evaluate 

C. indicate 

D. reckon 

24.Tomorrow the mayor is to ______ a group of Canadian businessmen on a tour of the city. 

A.  coordinate 

B. cooperate 

C. accompany 

D. associate 

25.There has been a collision ______ a number of cars on the main road to town. 

A. composing 

B. consisting 

C. involving 

D. engaging 

26.A well-written composition ______good choice of words and clear organization among other things. 

A. calls on 

B. calls for 

C. calls up 

D. calls off 

27.The strong storm did a lot of damage to the coastal villages: several fishing boats were ______ and many houses collapsed. 

A. wrecked 

B. spoiled 

C. torn 

D. injured 

28.Having decided to rent a flat, we _______ contacting all the accommodation agencies in the city. 

A. set about 

B. set down 

C. set out 

D. set up 

29.I was so ______in today's history lesson. I didn’t understand a thing. 

A. amazed 

B. neglected 

C. confused 

D. amused 

30.It ______ you to at least 50% off the regular price of either frames or lenses when you buy both. 

A. presents 

B. entitles 

C. credits 

D. tips 

31.The newcomers found it impossible to _____ themselves to the climate sufficiently to make permanent homes in the new country. 

A. suit 

B. adapt 

C. regulate 

D. coordinate 

32.It is obvious that this new rule is applicable to everyone without ______. 

A. exception 

B. exclusion 

C. modification 

D. substitution 

33.It has been revealed that some government leaders ________ their authority and position to get illegal profits for themselves. 

A. employ 

B. take 

C. abuse 

D. overlook 

34.The manager lost his ______ just because his secretary was ten minutes late. 

A. mood 

B. temper 

C. mind 

D. passion 

35.The relationship between employers and employees has been studied ______. 

A. originally 

B. extremely 

C. violently 

D. intensively 

36.It's already 5 o'clock now. Don't you think it's about time ______ ? 

A. we are going home 

B. we go home 

C. we went home 

D. we can go home 

37.Today, ________major new products without conducting elaborate market research. 

A. corporations hardly introduce ever 

B. corporations hardly ever introduce 

C. hardly corporations introduce ever 

D. hardly corporations ever introduce 

38.I've already told you that I'm going to buy it, ____________ . 

A. however much it costs

B. however does it costs much 

C. how much does it cost 

D. no matter how it costs 

39.Melted iron is poured into the mixer much ________ tea is poured into a cup from a teapot. 

A. in the same way like 

B. in the same way which 

C. in the same way 

D. in the same way as 

40.By success I don't mean ______ usually thought of when that word is used. 

A. what is 

B. that we 

C. as you 

D. all is 

41.Until then, his family______ from him for six months. 

A. didn't hear 

B. hasn't been hearing 

C. hasn't heard 

D. hadn't heard 

42.By the time he arrives in Beijing, we ________ here for two days. 

A. will have stayed 

B. shall stay 

C. have been staying 

D. have stayed 

43.The fire was finally brought under control, but not _____ extensive damage had been caused. 

A. before 

B. since 

C. after 

D. as 

44.The millions of calculations involved, had they been done by hand, all practical value ________ by the time they were finished. 

A. had lost 

B. would have lost 

C. would lose 

D. should have lost 

45.As a public relations officer, he is said ________ some very influential people. 

A. to know 

B. to be knowing 

C. to have been knowing 

D. to have known 

46.With the development in science and technology man can make various flowers _____ before their time. 

A. be bloomed 

B. bloom 

C. bloomed 

D. blooming 

47.____ in the office had made a mistake, and the firm regretted causing the customer inconvenience. 

A. Someone 

B. Some 

C. Anyone 

D. One 

48.The mad man was put in the soft-padded cell lest he _____ himself. 

A. injure 

B. had injured 

C. injured 

D. would injure 

49.We love peace, yet we are not the kind of people to yield ___ any military threat. 

A. up 

B. to 

C. in 

D. at 

50.Although he knew little about the large amount of work done in the field, he succeeded ______ other more well-informed experimenters failed. 

A. which 

B. that 

C. what 

D. where 

阅读题（4题 共60分）
Humanity uses a little less than half the water available worldwide. Yet occurrences of shortages and droughts (干旱) are causing famine and distress in some areas, and industrial and agricultural by-products are polluting water supplies. Since the world's population is expected to double in the next 50 years, many experts think we are on the edge of a widespread water crisis. 
But that doesn't have to be the outcome. Water shortages do not have to trouble the world—if we start valuing water more than we have in the past. Just as we began to appreciate petroleum more after the 1970s oil crises, today we must start looking at water from a fresh economic perspective. We can no longer afford to consider water a virtually free resource of which we can use as much as we like in any way we want. 
Instead, for all uses except the domestic demand of the poor, governments should price water to reflect its actual value. This means charging a fee for the water itself as well as for the supply costs. 
Governments should also protect this resource by providing water in more economically and environmentally sound ways. For example, often the cheapest way to provide irrigation(灌溉) water in the dry tropics is through small-scale projects, such as gathering rainfall in depressions(凹地) and pumping it to nearby cropland. 
No matter what steps governments take to provide water more efficiently, they must change their institutional and legal approaches to water use. Rather than spread control among hundreds or even thousands of local, regional, and national agencies that watch various aspects of water use, countries should set up central authorities to coordinate water policy. 

51.What is the real cause of the potential water crisis? 

A. Only half of the world's water can be used. 

B. The world population is increasing faster and faster 

C. Half of the world's water resources have been seriously polluted 

D. Humanity has not placed efficient value on water resources 

52.As indicated in the passage, the water problem ________. 

A. is already serious in certain parts of the world 

B. has been exaggerated by some experts in the field 

C. poses a challenge to the technology of building reservoirs 

D. is underestimated by government organizations at different levels 

53.According to the author, the water price should ________. 

A. be reduced to the minimum 

B. stimulate domestic demand 

C. correspond to its real value 

D. take into account the occurrences of droughts 

54.The author says that in some hot and dry areas it is advisable to ________. 

A. build big lakes to store water 

B. construct big pumping stations 

C. build small and cheap irrigation systems 

D. channel water from nearby rivers to cropland 

55.In order to raise the efficiency of the water supply, measures should be taken to ________. 

A. guarantee full protection of the environment 

B. centralize the management of water resources 

C. increase the sense of responsibility of agencies at all levels 

D. encourage local and regional of water resources 

We can see how the product life cycle works by looking at the introduction of instant coffee. When it was introduced, most people did not like it as well as “regular” coffee and it took several years to gain general acceptance (introduction stage). At one point, though, instant coffee grew rapidly in popularity and many brands were introduced (stage of rapid growth). After a while, people became attached to one brand and sales leveled off (stage of maturity). Sales went into a slight decline（衰退）when freeze-dried coffees were introduced (stage of decline). 
The importance of the product life cycle to marketers is this: Different stages in the product life cycle call for different strategies. The goal is to extend product life so that sales and profits do not decline. One strategy is called market modification. It means that marketing managers look for new users and market sections. Did you know, for example, that the backpacks that so many students carry today were originally designed for the military? 
Market modification also means searching for increased usage among present customers or going for a different market, such as senior citizens. A marketer may re-position the product to appeal to new market sections. 
Another product extension strategy is called product modification. It involves changing product quality, features, or style to attract new users or more usage from present users. American auto manufacturers are using quality improvement as one way to recapture world markets. Note, also, how auto manufacturers once changed styles dramatically from year to year to keep demand from falling. 


56.According to the passage, when people grow fond of one particular brand of a product, its sales will ________. 

A. decrease gradually 

B. become unstable 

C. improve enormously 

D. remain at the same level 

57.The first paragraph tells us that a new product is ________. 

A. usually introduced to satisfy different tastes 

B. often more expensive than old ones 

C. often inferior to old ones at first 

D. not easily accepted by the public 

58.Marketers need to know which of the four stages a product is in so as to ________. 

A. work out marketing policies 

B. increase its popularity 

C. promote its production 

D. speed up its life cycle 

59.The author mentions the example of “backpacks”(Line4, Para.2) to show the importance of __. 

A. increasing usage among students 

B. exploring new market sections 

C. pleasing the young as well as the old 

D. serving both military and civil needs 

60.In order to recover their share of the world market, U.S. auto makers are ________. 

A. improving product quality 

B. modernizing product style 

C. re-positioning their product in the market 

D. increasing product features 

So long as teachers fail to distinguish between teaching and learning, they will continue to undertake to do for children that which only children can do for themselves. Teaching children to read is not passing reading on to them. It is certainly not endless hours spent in activities about reading. Douglas insists that “reading cannot be taught directly and schools should stop trying to do the impossible”. 
Teaching and learning are two entirely different processes. They differ in kind and function. The function of teaching is to create the conditions and the climate that will make it possible for children to devise the most efficient system for teaching themselves to read. Teaching is also a public activity: it can be seen and observed. 
Learning to read involves all that each individual does to make sense of the world of printed language. Almost all of it is private, for learning is an occupation of the mind, and that process is not open to public scrutiny. 
If teacher and learner roles are not interchangeable, what then can be done through teaching that will aid the child in the quest(探索)for knowledge? Smith has one principal rule for all teaching instructions. “Make learning to read easy, which means making reading a meaningful, enjoyable and frequent experience for children.” 
When the roles of teacher and learner are seen for what they are, and when both teachers and learners fulfill them appropriately, then much of the pressure and feeling of failure for both is eliminated. Learning to read is made easier when teachers create an environment where children are given the opportunity to solve the problem of leaning to read by reading. 

61.The problem with the reading course as mentioned in the first paragraph is that____. 

A. it is one of the most difficult school courses 

B. students spend endless hours in reading 

C. reading tasks are assigned with little guidance 

D. too much time is spent in teaching about reading 

62.The teaching of reading will be successful if ____. 

A. teachers can improve conditions at school for the students 

B. teachers can enable students to develop their own way of reading 

C. teachers can devise the most efficient system for reading 

D. teachers can make their teaching activities observable 

63.The word “scrutiny”(Line 2, Para. 3) most probably means“_____ ”. 

A. inquiryi 

B. observation 

C. control 

D. suspicion 

64.According to the passage, learning to read will no longer be a difficult task when_______ . 

A. children become highly motivated 

B. teacher and learner roles are interchangeable 

C. teaching helps children in the search for knowledge 

D. reading enriches children's experience 

65.The main idea of the passage is that _____. 

A. teachers should do as little as possible in helping students learn to read 

B. teachers should encourage students to read as widely as possible 

C. reading ability is something acquired rather than taught 

D. reading is more complicated than generally believed 

Statuses are marvelous human inventions that enable us to get along with one another and to determine where we “fit” in society. As we go about our everyday lives, we mentally attempt to place people in terms of their statuses. For example, we must judge whether the person in the library is a reader or a librarian, whether the telephone caller is a friend or a salesman, whether the unfamiliar person on our property is a thief or a meter reader, and so on. 
The statuses we assume often vary with the people we encounter, and change throughout life. Most of us can, at very high speed, assume the statuses that various situations require. Much of social interaction consists of identifying and selecting among appropriate statuses and allowing other people to assume their statuses in relation to us. This means that we fit our actions to those of other people based on a constant mental process of appraisal and interpretation. Although some of us find the task more difficult than others, most of us perform it rather effortlessly. 
A status has been compared to readymade clothes. Within certain limits, the buyer can choose style and fabric. But an American is not free to choose the costume (服装) of a Chinese peasant or that of a Hindu prince. We must choose from among the clothing presented by our society. Furthermore, our choice is limited to a size that will fit, as well as by our pocketbook (钱包). Having made a choice within these limits we can have certain alterations made, but apart from minor adjustments, we tend to be limited to what the stores have on their racks. Statuses too come ready made, and the range of choice among them is limited. 

66.In the first paragraph, the writer tells us that statuses can help us ________. 

A. determine whether a person is fit for a certain job 

B. behave appropriately in relation to other people 

C. protect ourselves in unfamiliar situations 

D. make friends with other people 

67.According to the writer, people often assume different statuses _____. 

A. in order to identify themselves with others 

B. in order to better identify others 

C. as their mental processes change 

D. as the situation changes 

68.The word “appraisal”( Line 5, Para. 2) most probably means “____”. 

A. involvement 

B. appreciation 

C. assessment 

D. presentation 

69.In the last sentence of the second paragraph, the pronoun “it” refers to “____”. 

A. fitting our actions to those of other people appropriately 

B. identification of other people's statuses 

C. selecting one's own statuses 

D. constant mental process 

70.By saying that “an American is not free to choose the costume of a Chinese peasant or that of a Hindu prince”( Line 2，Para. 3), the writer means ________. 

A. different people have different styles of clothes 

B. readymade clothes may need alterations 

C. statuses come ready made just like clothes 

D. our choice of statuses is limited 
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